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AGRICULTURE
Paper I
Time : 3 Hours Maximuem Marks r 150
Nole :— Attempt five questions in all. Question Ne. 1 is

compulsory. Al questions carry equal marks.
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1 Correct the following statements and give reasons if
any : 30
(@) Intercropping refers to sowing of mixed seeds
of two crops.
(@) Transpiration ratio refers to production of unit

quantity to umnit volume of water used.
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(EZE)

(v

(v}

(e

(wiE)

(WEE)

( 2 ! Apri-l
Khaira disease of rice is due to seed bﬁﬁ'-;ne
fungus.

Arid soils have higher soil pH because of higher

anions on soil colloids.

Mineralization of nitrogen means conversion of

inorganic mnitroegen to organic nitrogen.

Growing plants of different heights in the same
field at the same time is known as multiple
cropping.

Exchangeable potassium on soil colloids and
potassium soluble in water is unavailable to

plants.

The spodic horizon is an illuvial horizon that
is dark in eolour because of high organic matter

accumulation.
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-{Ex) Rice can survive under waterlogged condition due
to the rice plant like water.

{x) Most critical stage of wheat for its scheduling

irrigation is the milking and dough stage.
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What do you understand about the agricultural

marketing ? Discuss its objectives and importance

in India. 20

Discuss the facilities needed for marketing in

agriculture in India. 10
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What are the main functions of phosphorus in
plants ? Discuss the deficiency of phosphorus in

plants. 20

What is acid rain and why it seems to have
greater impact on forest than on commereial
agriculture ? 10

P.T.O.
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Write short notes on any six of the following : 30

[£4} Control of sheet erosion

(if)  Contour tillage

(iif} Crop rotation

{iv) C]imal.tic requirement for onion production

{v)  Greenhouse cultivation of vegetables

(ui} Laterization

(vif) Vermi compost

(wiii) Various methods of water harvesting.
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fa)  Discuss the cultivation of Ginger, its major arecas
and varieties grown in India. 15

(b)  What is the export and export potential of
Ginger ? What measures should be taken

P.T.O.
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for enhancing competitiveness for gix er

export. ? 15
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What is the effect of soil pH on the availability
of phosphorus and what are the unavailable

forms at different pH levels 7 15

What are Chelates ? How do they function and

what are their sources ? 15
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What do you understand by the term economic
land holding ? How much is the land holding
under irrigated, partially irrigated and rainfed

conditions 7 10

What factors are adopted in the determination
of the price of agricultural commeodities in our
country 7 10

P.T.C.
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What is Apgricultural Price Commission ? When
it was constituted ? What is the new name

of APC and in which year did it come into

existence ? 10
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Discuss the important characteristics of weed and

different methods of control with their merits

and demerits, 10
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{H) Why a narrow strips of grass planted on the

contour sometimes called ‘Living terrace’ ? 10

(e} Describe the three main steps in the water

erosion  process. 10
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